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B: It’s green and yellow.

a) kind b) colour ) time d) number
@) Shehas ..o shampoo.

a) any b) an c) some d)a
) 'm hungry. lwantsome ... .

a) caps b) kits ¢) chips d) books
@) What ..o you looking for?

a) is b) does c) do d) are
) The soapis one pound. It’s ... .

a) chip b) cheap ¢) ship d) sheep
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Choose the correct answer:

€@ The value of the digit 7 in 0.375 is

a)7 b) 0.07 c) 0.7 d) 70
@o67+ =1

a) 0.3 b) 0.33 ¢) 0.033 d)3.3
€©65+25 12.8-3.8

a) = b) > Q) < d) otherwise
0 3 % SR in the decimal form

a)34 b) 32.5 43 d) 3.25
(5 1 B _308=

a) 2.16 b) 2.88 224 d)2.72

0 The number which lies between 13.1 and 13.2 is -

a) 133 b) 13.15 ¢) 13.01 d) 13.23
@ 256.104 =256+ 0.1 +
a) 0.04 b) 0.4 ¢) 0.004 d) 4

@ Science

Choose the correct answer:
o Absorption of food takes place in - .
a) ileum b) stomach ¢) mouth d) pharynx

9 The tissue consists of a group of - .

a) systems b) cells C) tissues d) fats
9 The noseis lined with ... to warm the air.

a) hair b) mucus ¢) blood capillaries d) (b) and ()
9 Air leaves the two lungs during the ............. process.

a) respiration b) inhalation c) exhalation d) epiglottis
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Choose the correct answer from a, b, cor d:
€D Theduckswearred ... :
a) carts b) caps C) cups d) cats
9 They ..o, have any pens.
a) don't b) isn't ¢) doesn’t d) do
€ A:What is it? B: It's 10:30.
a) colour b) subject ) time d) kind
@) Don't oo, litter.
a) play b) drop C) eat d) look
@ There oo some snow.
a)is b) are ) isn't d) aren't
- o
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Choose the correct answer:

0 The place value of 7 in the number 8.731 is -

a) tenth b) hundredth ¢) thousandth d) units
9 6.87 6.93
a) < b) > C)= d) otherwise

€ 3648-1837= ...

a)11.18 b) 18.11 c) 54.85 d) 85.54
9 7
5
3 4 1 2
a)2§ b)2§ C)3Z d)3§
%—%: ~~~~~~~~~~~~~~~~~~ (in the simplest form).
1 4 4
a) 3 b) 3 c)6 d) 1
G 2 % = o (as an improper fraction).
3 7 11 1

Choose the correct answer:

o Starches digestion starts by the . .

a) gastric juice b) intestinal juice ¢) saliva d) bile
9 ------------- changes fats into fatty emulsion.

a) Bile juice b) Pancreatic juice ¢) Stomach d) Saliva
9 During inhalation process, the chest cavity - .

a) contracts b) expands

¢) becomes medium-sized d) no correct answer

o Gases exchange occursinthe ... .

a) larynx b) alveoli c) trachea d) esophagus
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some toothpaste.
a) has b) have c) doesn't have  d) don't have
@) Thegirlssitonthe ..., :
a) cats b) mats ¢) bats d) socks
€) Thenurseseat ... :
a) keys b) beaches ¢) peaches d) purses
@) Thechairis ... to the tree.
a) next b) under c)on d)in
Q Lo, sick
a) fill b) feel c) full d) find
L .
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Choose the correct answer:

0 Two and five hundredths = -
a) 2500 b) 2.05 €) 225
Q The number that is included between 0.64 and 0.65 is -

a) 0.655 b) 0.645 ) 0.635
64
€ %64 98
a)< b) > Q)=
%: ................... (as decimal number)
a) 1.4 b) 0.25 ) 0.75

0 582.051-31.981=..

a) 5.007 b) 5.07 ¢) 50.07
(54238 +58=
a) 54.296 b) 59.246 ¢) 60.038

0 The value of the digit (6) in the number 15.346 is -
a)6 b) 0.6 ¢) 0.06

d) 0.625

d) otherwise

d) 0.125

d) 60.38

d) 0.006

o The - allows food to pass from pharynx to stomach.

a) mouth b) esophagus ¢) small intestine
9 The - is a common cavity between esophagus and trachea.
a) mouth b) stomach ) pharynx

9 The trachea is lined with - to eject-up strange objects.
a) hair b) blood capillaries c) cilia
0 The exhaled air contains ............ .
a) carbon dioxide

b) water vapor C) oxygen

d) large intestine

d) tongue

d) mucus

d) (a) and (b)
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@ Mathematics

Answer

@ oo7
@oss

6 -
(4 EPE
(5 PRp)
0O 1315
@ o.004
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Answer

(1 PXE
@ 0645
(338

O o5
0 5007
0 60.038
@ 0.006
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